Please just choose the right letter for each problem thank you.
1. Evaluate for x = -2, y = 3:                 4x – 2y

a. less than -10

b. at least -10 but less than -4

c. at least -4 but less than 0

d. at least 0 but less than 4

e. at least 4

2. Give GCF for 36, 45 and 54

a. 3

b. 9

c. 540

d. 1620

e. none of the above

3. Give LCM for 36, 45 and 54

a. 3

b. 9

c. 540

d. 1620

e. none of the above

4. Change 0.6% to decimal

a. 0.06

b. 0.6

c. 6

d. 60

e. none of the above

5. Change 0.015 to percent

a. 0.15%

b. 1.5%

c. 15%

d. none of the above

6. A can of milk holds 12 gallons.  It is 5/6 full. How many gallons of milk are actually in the can?

a. less than 2 gallons

b. at least 2 gallons but less than 5 gallons

c. at least 5 gallons but less than 8 gallons

d. at least 8 gallons but less than 11 gallons

e. at least 11 gallons

7. Do the math:           
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a.    X18

b.    X12

c.    X5

d.   X3

e.  none of the above

8. Do the math:            -3 + 7 – 9 + 1

a. less than -3

b. at least -3 but less than 0

c. at least 0 but less than 3

d. at least 3 but less than 7

e. at least 7

9. Do the math:      -4.5 * -3.2 * 6.8 * -1.3

a. less than -100

b. at least -100 but less than -60

c. at least -60 but less than 0

d. at least 0 but less than 60

e. at least 60

10.  Do the math:    
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a.  X

b.  X7

c.  X8
d.  X15
e.  X56
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